6 g
( Bxereiots 5.2, PA 5)

The Aok poly of fle diagmel Lo

(H—x)m = r.M (W) x" . Tt
-ow ) %Mﬁg

Mo, oL ] a - O /M =
F a%tat‘ma Mria’-wa The &AH - "\
Tk $.).




o R( ) - ((6 a
¥ R(‘; >+ R(:?'?” )
@O o 1

= sz( >+XR(20>+ R(E)

= K(ax)(leix+20) +
x“R(z )*‘ "R(gaa> + RO

< ...+x3w +x"R§U )

| +2x  (1ex)(1+4x+ 222)
ER(E) D)
L 3 R(0)+ R(.n) + sz<QD +xR(ﬂnEE'
2o X2 (14x) x‘(x R(n) + R(ﬂg)) + X (1)
tER(F) e xR(B) <R

Corpf ﬁaﬁ Yoo 24241 erefs




(1+2x) X (o0t wxx 2)

+ X R(g \:Eg) + Y R(E)




242+
ne
2424 2% (A " “‘a‘
L4+ 2+ 2 p- (b

. Noe. o‘*ibi rm—'h&‘hu & .




(m) -\--{N(h?—)’r
IR EVOEI QAR ¥
N(?;3) '\'{.. * N(“""a“‘) ) — {N("L'B) * }
\

;TR RN

| aen t B

N(1) & e s M) = (m—x).'(w_)
= ()T otad wo.
B I (2






